REPAIR PARTS
22" REAR BAGGER ROTARY LAWN MOWER - - MODEL NO. 8890, CATALOG NO. 850-4870

(44




REPA.R PARTS |
22" REAR BAGGER ROTARY LAWN MOWER - - MODEL NO. 8890, CATALOG NO. 850-4870

€c

KEY

- <
codNOORLN~ O

DESCRIPTION

Lower Handle

Rope Guide

Locknut 1/4-20

Handle Bolt

Control Bar

Cable Clip

Machine Screw 1/4-20 x 2-1/8
Throttle Control

Washer

Engine Zone Controi Cable
Upper Handle

Hairpin Cotter

Wing Nut

Hex Washer Head Screw
#10-24 x 1/2

Rear Skirt

Handle Bracket Assembly (Righ)
Handle Bracket Assembly (Left)
Screw 5/16-18 x 3/4

Washer

Washer

Locknut

Wheel Adjusting Bracket
Spacer

Washer

Selector Spring

Selector Knob

Axle Arm Assembly

Belleville Washer

Shoulder Bolt 3/8-16

Wheel & Tire Assembly (Rear)
8.0x1-3/4

Washer

Retainer Clip

Hubcap

Hex Head Thréad Rolling
Screw w/Sems 1/4-20x 3

Manufacturer's Model No. (JPAP52A)

S

MFG.
PART
NO.

800481

103672X
63601
58714
851512
85827
86261
851464
85723
850892
800673
51793
82824
81276

800100
63644
63645
55187
59289
62333
74400
850804
84920
88348
850856
87877
85022
62335
84921

111433X

52160
85179
77400
81276

S

JCPENNEY
PART NO.

1371-2088
1369-9541
1369-9566
1369-9574
1371-2237
1369-9582
1369-9590
1369-9616
1369-9608
1371-2245
1371-2070
1369-9681
1371-2260
1371-2104

1371-2278
1371-2138
1371-2120
1369-9863
1371-2195
1371-2278
1369-9913
1369-9889
1369-9954
1369-9962
1369-9970
1369-9988
1369-9996
1370-0000
1370-0018
1371-2286

1370-0034
1370-0042
1371-2294
1371-2104

KEY
NO.

35
36

37
38
39
40

41
43

DESCRIPTION

Speed Nut
Thread Rolling Screw
3/8-16 x 18

‘Engine Washer

Belt Snubber

Front Baffle
Mower Housing Kit
(Includes Key No. 61)
Handle Grip

Hex Head Screw
3/8-24 x 1-3/8 Gr. 8
Helical Washer 3/8
Hardened Washer
22" Blade

Blade Adapter
Hinge Rod
Housing Bracket
Torsion Spring
Discharge Guard
Hi-Pro Key

Set Screw

Engine Pulley
Screw #10x5/8
Cable Clamp
Danger Decal

Engine - Briggs & Stratton
Modei No. 80702, Type No.

3123-02

Rear Baffie (Not Shown)

MFG.
PART
NO.

75449
50998

851219
851000
75428

127911

850724
851084

850263
851074
850973
851614
851854
851852X004
851855
851750
87677
59708
84596
83816
213146
107339X

83976

-

s

JCPENNEY
PART NO.

1371-2302
1370-0083

1370-0117
1371-2302
1371-2310
1371-2328

1369-9632
1371-1981

1371-1999
1371-2005
1370-0133
1371-2336
1371-2187
1371-2179
1371-2161
1371-2146
1371-2344
1371-2351
1371-2369
1369-9699
1355-4100

1277-0590

* These parts must be purchased through an authorized Briggs & Stratton dealer.



REPAIR PARTS
22" REAR BAGGER ROTARY LAWN MOWER - - MODEL NO. 8890, CATALOG NO. 850-4870

ve

Loy
P o

(e



REPAIr PARTS

14

KEY
NO.

8(0@\]0) AbhON-—

-t
—h

-k ok b b b
NoOhOON

DESCRIPTION

Locknut

Drive Control Cable

Machine Screw #10-24 x 2
Cable Clip

Hex Washer Head Screw
#10-24 x 1/2

Guide Clip (Housing)

V-Belt

Hex Head Bolt 1/4-20 x 2-3/4

Flat Head Machine Screw 1/4-20 x 3/4

Locknut 1/4-20

R

Wheel Adjusting Assembly (Right)

Wheel Adjusting Assembly (Left)
Selector Knob

Dust Cover

Pinion

External E-Ring

Wheel & Tire Assembly (Front)
8.0 x 1-3/4

Manufacturer's Model No. (JPAP52A)

MFG.
PART
NO.

74189
851069
78186
85827
750097

87930
83691
54338
61528
63601
851031
851032
87877
76401
74507

53753

850986

M

JCPENNEY
PART NO.

1371-2377
1371-2385
1371-2393
1369-9582
1369-9657

1371-2401
1371-2419
1371-2427
1371-1932
1369-9566
1371-2435
1371-2443
1369-9988
1371-2450
1371-2468
1371-2476
1371-2484

KEY
NO.

DESCRIPTION

Wheel Bushing

Washer

Retainer Clip

Hubcap

Drive Shaft Cover

Gear Case Assembly

Woodruff Key #3

Locknut 1/4-20

Spring

Spring

Woodruff Key #213

Drive Pulley

External Retaining Ring

Cable Clamp (Adj. Bracket)
Screw 10-24 .
Drive Cover

Machine Screw #10-24 x 2-3/4
Machine Screw #10-24 x 1-3/4
Drive Cover Decal

g

22" REAR BAGGER ROTARY LAWN MOWER - - MODEL NO. 8890, CATALOG NO. 850-4870

MFG.
PART
NO.

86960
52160
85179
77400
86012
751080
65692
68038
83632
75192
57076
83681
74976
83700
750108
75448
75725
69411
851181

JCPENNEY
PART NO.

1371-2518
1370-0034
1370-0042
1371-2294
1371-2492
1371-2500
1371-2526
1371-2534
1371-2542
1371-2559
1371-2567
1371-2575
1371-2583
1371-2591
1371-2609
1371-2617
1371-2625
1371-2633



